R@p%@ R@Mm@ﬂy 1200

Drill the holes for the wall plugs
with a @ 10 mm drill bit as
illustrated in the figure.

140

175

140

813

|
:
|
|
|
|
|
|
|
|
|
|
| !
|
|
|
|
|
|
|
|
|
|
|
|
|
|

| Wall Connectors

Fix the wall mounting apparatus on
the wall as illustrated.

Wall mounting
apparatus

—— Wall Connectors

Hold the product carefully and
| insert the panel mounting apparatus
into the wall mounting apparatus
| and then fix it by tightening the bolt.
Bolt .
(M5 X 10) panel mounting
| apparatus

NN
\\\\

Wall mounting
apparatus

Complete plumbing connections as
shown in the figure.

back of the product as illustrated. If the
| optional towel hangers are not used,the

Fix the panel mounting apparatus to the

supplied washers must be used. Do not take
off the edge and surface protective materials
until all plumbing work is finished.

Purger
K\ Optional towel
Panel mounting [ 20 hanger
aparatus\ Lils®

M10 Washersﬂ 3~<
(to be used without

towel hangers)% e g

Bolts A
(M10x12mm)

Bolts with washers

(M10x12mm)
Panel @

T x2

(enmme X2 0 X2
SCREW BOLT
WALL PLUG M5X10 mm
Ox2 « X x
fuasHERS X2 HEXAGON HEAD BOLT
WITH WASHER
(to be used on wall HEXAGON HEAD BOLT M10X12 mm

M10X12 mm
(to be used on wall mounts)

mounts without
towel hangers)

S

PANEL MOUNTING
APPARATUS

m ARVENT X1

(to be used on optional
center towel hanger)

S«

WALL MOUNTING
APPARATUS

Plumbing Figure

(59-83)|
372 T
| I ===
4 ) ] 4
I : I
s
L ——————1 I : I ]
I : I
s
I
o ' I ' Panel
‘g_v I : I
E:
I I I
I I I
- --~-—"~"~71 I I I [T
I : I
==
370 : I :
E[.g e ar 2 - &
‘(__ 455 _J[_ I J -
(27-51)

Determine the position of the product according to the water inlet -
outlet dimensions stated in the figure.

DALETL

www.daletbaie.ro

office@deltabaie.ro

tel: 0040773368033

127-120037-18-R01




	Sheets and Views
	Model


